

Fuzzy Sets and Systems 119 (2001) 459-471



www.elsevier.com/locate/fss

# pre-Continuity and D(c, p)-continuity in fuzzifying topology

K.M. Abd El-Hakeim\*, F.M. Zeyada, O.R. Sayed

Department of Mathematics, Faculty of Sciences, Assiut University, Assiut 71516, Egypt

Received April 1998; received in revised form December 1998

#### Abstract

The concepts of fuzzy *pre*-continuity and fuzzy *cpre*-continuity are introduced and studied in fuzzifying topology essentially in order to give decompositions of fuzzy continuity. © 2001 Elsevier Science B.V. All rights reserved.

Keywords: Fuzzy logic; Fuzzifying topology; Fuzzy continuity; pre-continuity; cpre-continuity

# 1. Introduction

Ying pointed out a new approach for fuzzy topology with fuzzy logic [7]. The concept of fuzzifying topology with the semantic method of continuous-valued logic was discussed by him [7] as a preliminary of the research on bifuzzy topology. All the conventions in [7–9] are good in this paper. The concept of *pre*-continuity was introduced by Mashhour et al. [5] and the concept of D(c, p)-continuity was introduced by Przemski [6]. The concept of D(c, p)-continuity will be renamed in the present paper as *cpre*-continuity. It is worth mentioning that the concept of *pre*-continuity was introduced in fuzzy topology [2] by Bin Shahna [1]. In the present paper we extend and study the concepts of *pre*-continuity in fuzzifying topology. Furthermore, the concept of *cpre*-neighborhood system is presented and a fuzzifying topology induced by it is introduced. Also comparisons of some types of fuzzy continuity and fuzzy *cpre*-continuity are studied.

## 2. Preliminaries

For the fuzzy logical and corresponding set theoretical notations we refer to [7,8]. We note that the set of truth values is the unit interval and we often do not distinguish the connectives and their truth value functions and state strictly our results on formalization as Ying does. For the definitions and results in fuzzifying topology which are used in the sequel we refer to [7-9].

We now give some definitions and results as introduced in [4] which are useful in the rest of the present paper.

<sup>\*</sup> Corresponding author.

<sup>0165-0114/01/\$ -</sup> see front matter © 2001 Elsevier Science B.V. All rights reserved. PII: S0165-0114(99)00097-4

**Definition 2.1.** For any  $\tilde{A} \in \mathscr{F}(X)$ ,

 $\models (\tilde{A})^{\circ} \equiv X \sim \overline{(X \sim \tilde{A})}.$ 

**Lemma 2.1.** If  $[\tilde{A} \subseteq \tilde{B}] = 1$ , then (1)  $\models \tilde{\bar{A}} \subseteq \tilde{\bar{B}}$ ; (2)  $\models (\tilde{A})^{\circ} \subseteq (\tilde{B})^{\circ}$ .

**Lemma 2.2.** Let  $(X, \tau)$  be a fuzzifying topological space. For any  $\tilde{A}, \tilde{B}$ , (1)  $\models X^{\circ} \equiv X$ ; (2)  $\models (\tilde{A})^{\circ} \subseteq \tilde{A}$ ; (3)  $\models (\tilde{A} \cap \tilde{B})^{\circ} \equiv (\tilde{A})^{\circ} \cap (\tilde{B})^{\circ}$ ; (4)  $\models (\tilde{A})^{\circ\circ} \supseteq (\tilde{A})^{\circ}$ .

One can add the following lemma.

**Lemma 2.3.** Let  $(X, \tau)$  be a fuzzifying topological space. For any  $\tilde{A} \in \mathscr{F}(X)$ , (1)  $\models X \sim (\tilde{A})^{-\circ} \equiv (X \sim \tilde{A})^{\circ-}$ ; (2) if  $[\tilde{A} \subseteq \tilde{B}] = 1$ , then  $\models (\tilde{A})^{-\circ} \subseteq (\tilde{B})^{-\circ}$ .

## 3. Fuzzifying pre-open sets and fuzzifying cpre-open sets

**Definition 3.1.** Let  $(X, \tau)$  be a fuzzifying topological space.

(1) The family of fuzzifying pre- (resp. cpre-) open sets is denoted by  $p\tau$  (resp.  $cp\tau \in \mathscr{F}(P(X))$  and defined as follows:

 $A \in p\tau := \forall x (x \in A \to x \in A^{-\circ}) \text{ (resp. } A \in cp\tau := \forall x (x \in A \cap A^{-\circ} \to x \in A^{\circ})\text{)}.$ 

(2) The family of fuzzifying *pre*- (resp. *cpre*-) closed sets is denoted by pF (resp. cpF)  $\in \mathscr{F}(P(X))$  and defined as follows:

 $A \in pF$  (resp. cpF):= $X \sim A \in p\tau$  (resp.  $cp\tau$ ).

**Lemma 3.1.** For any  $\alpha, \beta, \gamma, \delta \in I$ ,

 $(1 - \alpha + \beta) \wedge (1 - \gamma + \delta) \leq 1 - (\alpha \wedge \gamma) + (\beta \wedge \delta).$ 

**Lemma 3.2.** For any  $A \in P(X)$ ,

 $\models A^{\circ} \subseteq A^{-\circ}.$ 

**Proof.** From Theorem 5.3 [7] we have  $[A \subseteq A^-] = 1$  and from Lemma 2.1(2),  $[A^\circ \subseteq A^{-\circ}] = 1$ .

**Theorem 3.1.** Let  $(X, \tau)$  be a fuzzifying topological space. Then

- (1) (a)  $p\tau(X) = 1, p\tau(\phi) = 1;$ 
  - (b) for any  $\{A_{\lambda}: \lambda \in A\}$ ,  $p\tau(\bigcup_{\lambda \in A} A_{\lambda}) \ge \bigwedge_{\lambda \in A} p\tau(A_{\lambda})$ ;
- (2) (a)  $cp\tau(X) = 1$ ,  $cp\tau(\emptyset) = 1$ ; (b)  $cp\tau(A \cap B) \ge cp\tau(A) \land cp\tau(B)$ .

**Proof.** The proof of (a) in (1) and (a) in (2) are straightforward. (1) (b) From Lemma 2.3,  $\models A_{\lambda}^{-\circ} \subseteq (\bigcup_{\lambda \in A} A_{\lambda})^{-\circ}$ . So,

$$p\tau\left(\bigcup_{\lambda\in\Lambda}A_{\lambda}\right) = \inf_{x\in\cup_{\lambda\in\Lambda}A_{\lambda}}\left(\bigcup_{\lambda\in\Lambda}A_{\lambda}\right)^{-\circ}(x) = \inf_{\lambda\in\Lambda}\inf_{x\in\Lambda_{\lambda}}\left(\bigcup_{\lambda\in\Lambda}A_{\lambda}\right)^{-\circ}(x)$$
$$\geqslant \inf_{\lambda\in\Lambda}\inf_{x\in\Lambda_{\lambda}}A_{\lambda}^{-\circ}(x) = \bigwedge_{\lambda\in\Lambda}p\tau(A_{\lambda}).$$

(2) (b) Applying Lemmas 2.2(3), 2.3(2) and 3.1 we have

$$cp\tau(A) \wedge cp\tau(B) = \inf_{x \in A} (1 - A^{-\circ}(x) + A^{\circ}(x)) \wedge \inf_{x \in B} (1 - B^{-\circ}(x) + B^{\circ}(x))$$
  

$$\leq \inf_{x \in A \cap B} ((1 - A^{-\circ}(x) + A^{\circ}(x)) \wedge (1 - B^{-\circ}(x) + B^{\circ}(x)))$$
  

$$\leq \inf_{x \in A \cap B} (1 - (A^{-\circ} \cap B^{-\circ})(x) + (A^{\circ} \cap B^{\circ})(x))$$
  

$$\leq \inf_{x \in A \cap B} (1 - (A \cap B)^{-\circ}(x) + (A \cap B)^{\circ}(x))$$
  

$$= cp\tau(A \cap B). \square$$

From Theorem 3.1, we can have the following theorem.

**Theorem 3.2.** Let  $(X, \tau)$  be a fuzzifying topological space. Then (1) (a)  $pF(X) = 1, pF(\emptyset) = 1;$ (b)  $pF(\bigcap_{\lambda \in A} A_{\lambda}) \ge \bigwedge_{\lambda \in A} pF(A_{\lambda});$ (2) (a)  $cpF(X) = 1, cpF(\emptyset) = 1;$ (b)  $cpF(A \cup B) \ge cpF(A) \land cpF(B).$ 

**Theorem 3.3.** Let  $(X, \tau)$  be a fuzzifying topological space. Then

(1) (a)  $\models \tau \subseteq p\tau;$ (b)  $\models \tau \subseteq cp\tau;$ (2) (a)  $\models F \subseteq pF;$ 

(b)  $\models F \subseteq cpF$ .

Proof. From Theorems 2.2(3) [8] and 3.2, we have

(1) (a)  $[A \in \tau] = [A \subseteq A^\circ] \leq [A \subseteq A^{-\circ}] = [A \in p\tau].$ (b)  $[A \in \tau] = [A \subseteq A^\circ] \leq [A \cap A^{-\circ} \subseteq A^\circ] = [A \in cp\tau].$ 

(2) The proof is obtained from (1).  $\Box$ 

**Remark 3.1.** In crisp setting, i.e., if the underlying fuzzifying topology is the ordinary topology, one can have

 $\models (A \in p\tau \land A \in cp\tau) \to A \in \tau.$ 

But this statement may not be true in general in fuzzifying topology as illustrated by the following counterexample.

**Counterexample 3.1.** Let  $X = \{a, b, c\}$  and let  $\tau$  be a fuzzifying topology on X defined as follows:

 $\tau(X) = \tau(\{a\}) = \tau(\{a,c\}) = 1; \ \tau(\{b\}) = \tau(\{a,b\}) = 0 \text{ and } \tau(\{c\}) = \tau(\{b,c\}) = \frac{1}{6}. \text{ One can have that } p\tau(\{a,b\}) = \frac{5}{6}, cp\tau(\{a,b\}) = \frac{1}{6} \text{ and hence, } p\tau(\{a,b\}) \wedge cp\tau(\{a,b\}) = \frac{5}{6} \wedge \frac{1}{6} = \frac{1}{6} \leq 0 = \tau(\{a,b\}).$ 

**Theorem 3.4.** Let  $(X, \tau)$  be a fuzzifying topological space.

(1)  $\models A \in \tau \rightarrow (A \in p\tau \land A \in cp\tau).$ (2) If  $[A \in p\tau] = 1$  or  $[A \in cp\tau] = 1$ , then  $\models A \in \tau \leftrightarrow (A \in p\tau \land A \in cp\tau)$ .

# **Proof.** (1) Obtained from Theorem 3.3(1).

(2) If  $[A \in p\tau] = 1$ , then for each  $x \in A$ ,  $A^{-\circ}(x) = 1$  and so for each  $x \in A$ ,  $1 - A^{-\circ}(x) + A^{\circ}(x) = A^{\circ}(x)$ . Thus from Lemma 3.2  $\models A^{\circ} \subseteq A^{-\circ}$  and so we have,  $[A \in p\tau] \land [A \in cp\tau] = [A \in cp\tau] = [A \in \tau]$ . If  $[A \in cp\tau] = 1$ then for each  $x \in A$ ,  $1 - A^{\circ}(x) + A^{\circ}(x) = 1$  and so for each  $x \in A$ , we have  $A^{\circ}(x) = A^{\circ}(x)$ . Thus  $[A \in p\tau] \land$  $[A \in cp\tau] = [A \in p\tau] = [A \in \tau]. \quad \Box$ 

**Theorem 3.5.** Let  $(X, \tau)$  be a fuzzifying topological space. Then

 $\models (A \in p\tau \land A \in cp\tau) \to A \in \tau.$ 

Proof.

$$p\tau(A) \land cp\tau(A) = \inf_{x \in A} A^{-\circ}(x) \land \inf_{x \in A} (1 - A^{-\circ}(x) + A^{\circ}(x))$$
$$= \max\left(0, \inf_{x \in A} A^{-\circ}(x) + \inf_{x \in A} (1 - A^{-\circ}(x) + A^{\circ}(x)) - 1\right)$$
$$\leqslant \inf_{x \in A} A^{\circ}(x) = [A \in \tau]. \quad \Box$$

#### 4. Fuzzifying pre- (resp. cpre-) neighborhood structure of a point

**Definition 4.1.** Let  $x \in X$ . The pre- (resp. cpre-) neighborhood of x is denoted by  $pN_x$  (resp.  $cpN_x \in \mathscr{F}(P(X))$ ) and defined as

\

$$pN_x(A) = \sup_{x \in B \subseteq A} p\tau(B) \left( \text{resp. } cpN_x(A) = \sup_{x \in B \subseteq A} cp\tau(B) \right).$$

**Theorem 4.1.** (1)  $\models A \in p\tau \leftrightarrow \forall x (x \in A \rightarrow \exists B (B \in p\tau \land x \in B \subseteq A));$ (2)  $\models A \in p\tau \leftrightarrow \forall x (x \in A \rightarrow \exists B (B \in pN_x \land B \subseteq A)).$ 

**Proof.** (1) Now,  $[\forall x(x \in A \to \exists B(B \in p\tau \land x \in B \subseteq A))] = \inf_{x \in A} \sup_{x \in B \subseteq A} p\tau(B)$ . It is clear that  $\inf_{x \in A} \sup_{x \in B \subseteq A} p\tau(B) \ge p\tau(A)$ . In the other hand, let  $\beta_x = \{B: x \in B \subseteq A\}$ . Then, for any  $f \in \prod_{x \in A} B_x$  we have  $\bigcup_{x \in A} \bar{f}(x) = A$  and so  $p\tau(A) = p\tau(\bigcup_{x \in A} f(x)) \ge \inf_{x \in A} p\tau(f(x))$ . Thus,

$$p\tau(A) \ge \sup_{f \in \prod_{x \in A} B_x} \inf_{x \in A} p\tau(f(x)) = \inf_{x \in A} \sup_{x \in B \subseteq A} p\tau(B).$$

(2) From (1) we have,

$$[\forall x(x \in A \to \exists B(B \in pN_x \land B \subseteq A))] = \inf_{x \in A} \sup_{B \subseteq A} pN_x(B)$$
$$= \inf_{x \in A} \sup_{B \subseteq A} \sup_{x \in C \subseteq B} p\tau(C)$$
$$= \inf_{x \in A} \sup_{x \in C \subseteq A} p\tau(C) = [A \in p\tau]. \qquad \Box$$

**Corollary 4.1.**  $\inf_{x \in A} pN_x(A) = p\tau(A)$ .

**Theorem 4.2.** The mapping  $pN: X \to \mathscr{F}^N(P(X))$ ,  $x \mapsto pN_x$  where  $\mathscr{F}^N(P(X))$  is the set of all normal fuzzy subset of P(X) has the following properties:

(1) for any x, A,  $\models A \in pN_x \to x \in A$ ; (2) for any x, A, B,  $\models A \subseteq B \to (A \in pN_x \to B \in pN_x)$ ; (3) for any x, A,  $\models A \in pN_x \to \exists H(H \in pN_x \land H \subseteq A \land \forall y(y \in H \to H \in pN_y))$ .

**Proof.** One can easily have that for each  $x \in X$ ,  $pN_x(X) = 1$ , i.e. each  $pN_x$  is normal.

(1) If  $pN_x(A) = 0$ , the result holds. Suppose  $pN_x(A) > 0$ , then  $\sup_{x \in H \subseteq A} p\tau(H) > 0$  and so there exists  $H_0$  such that  $x \in H_0 \subseteq A$ . Thus  $[x \in A] = 1 \ge pN_x(A)$ .

(2) Immediate.

(3)

$$\begin{bmatrix} \exists H(H \in pN_x \land H \subseteq A \land \forall y(y \in H \to H \in pN_y)) \end{bmatrix}$$
  
= 
$$\sup_{H \subseteq A} \left( pN_x(H) \land \inf_{y \in H} pN_y(H) \right)$$
  
= 
$$\sup_{H \subseteq A} (pN_x(H) \land p\tau(H))$$
  
= 
$$\sup_{H \subseteq A} p\tau(H) \ge \sup_{x \in H \subseteq A} p\tau(H) = [A \in pN_x]. \square$$

**Theorem 4.3.** The mapping  $cpN: X \to \mathscr{F}^N(P(X))$ ,  $x \mapsto cpN_x$ , where  $\mathscr{F}^N(P(X))$ , is the set of all normal fuzzy subsets of P(X) has the following properties:

(1) for any x, A,  $\models A \in cpN_x \rightarrow x \in A$ ;

(2) for any x, A, B,  $\models A \subseteq B \rightarrow (A \in cpN_x \rightarrow B \in cpN_x);$ 

(3) for any x, A, B,  $\models A \in cpN_x \land B \in cpN_x \rightarrow A \cap B \in cpN_x$ .

Conversely, if a mapping cpN satisfies (2) and (3), then cpN assigns a fuzzifying topology on X, denoted by  $\tau_{cpN} \in \mathscr{F}(P(X))$  and defined as

 $A \in \tau_{cpN} := \forall x (x \in A \to A \in cpN_x).$ 

**Proof.** It is clear that each  $cpN_x$  is normal.

The proof of (1) and (2) are similar to the corresponding results in Theorem 4.2.

(3) From Theorem 3.1(2)(b) we have

$$\begin{split} [A \cap B \in cpN_x] &= \sup_{x \in H \subseteq A \cap B} cp\tau(H) \\ &= \sup_{x \in H_1 \subseteq A, x \in H_2 \subseteq B} cp\tau(H_1 \cap H_2) \\ &\geqslant \sup_{x \in H_1 \subseteq A, x \in H_2 \subseteq B} (cp\tau(H_1) \wedge cp\tau(H_2)) \\ &= \sup_{x \in H_1 \subseteq A} cp\tau(H_1) \wedge \sup_{x \in H_2 \subseteq B} cp\tau(H_2) \\ &= cpN_x(A) \wedge cpN_x(B). \end{split}$$

Conversely, we need to prove that  $\tau_{cpN} = \inf_{x \in A} cpN_x(A)$  is a fuzzifying topology. From Theorem 3.2 [7] and since  $\tau_{cpN}$  satisfies properties (2) and (3), then  $\tau_{cpN}$  is a fuzzifying topology.  $\Box$ 

**Theorem 4.4.** Let  $(X, \tau)$  be a fuzzifying topological space. Then

$$\models cp\tau \subseteq \tau_{cpN}.$$

**Proof.** Let  $B \in P(X)$ ,  $\tau_{cpN}(B) = \inf_{x \in B} cpN_x(B) = \inf_{x \in B} \sup_{x \in A \subseteq B} cp\tau(A) \ge cp\tau(B)$ .

### 5. pre- (resp. cpre-) Closure and pre- (resp. cpre-) interior

**Definition 5.1.** (1) The *pre*- (resp. *cpre*-) closure of A is denoted by *p*-*cl* (resp. *cp*-*cl*)  $\in \mathscr{F}(P(X))$  and defined as follows:

$$p-cl(A)(x) = \inf_{x \notin B \supseteq A} (1 - pF(B)) \left( \text{resp. } cp-cl(A)(x) = \inf_{x \notin B \supseteq A} (1 - cpF(B)) \right).$$

(2) The *pre*- (resp. *cpre*-) interior of A is denoted by p-*int*(A) (resp. *cp*-*int*(A))  $\in \mathscr{F}(P(X))$  and defined as follows:

p-int $(A)(x) = pN_x(A)$  (resp. cp-int $(A)(x) = cpN_x(A)$ ).

# Theorem 5.1.

(1) (a)  $p - cl(A)(x) = 1 - pN_x(X \sim A);$ (b)  $\models p - cl(\emptyset) \equiv \emptyset;$ (c)  $\models A \subseteq p - cl(A);$ (d)  $\models x \in p - cl(A) \leftrightarrow \forall B(B \in pN_x \rightarrow A \cap B \neq \emptyset);$ (e)  $\models A \equiv p - cl(A) \leftrightarrow A \in pF;$ (f)  $\models B \equiv p - cl(A) \rightarrow B \in pF.$ (2) (a)  $cp - cl(A)(x) = 1 - cpN_x(X \sim A);$ (b)  $\models cp - cl(\emptyset) \equiv \emptyset;$ (c)  $\models A \subseteq cp - cl(A);$ (d)  $\models x \in cp - cl(A) \leftrightarrow \forall B(B \in cpN_x \rightarrow A \cap B \neq \emptyset);$ (e)  $\models A \equiv cp - cl(A) \leftrightarrow \forall B(B \in cpN_x \rightarrow A \cap B \neq \emptyset);$ (f)  $\models B \equiv cp - cl(A) \rightarrow B \in F\tau_{cpN};$ (f)  $\models B \equiv cp - cl(A) \rightarrow B \in F\tau_{cpN}.$ 

**Proof.** (1) (a)  $p - cl(A)(x) = \inf_{x \notin B \supseteq A} (1 - pF(B)) = \inf_{x \in X \sim B \subseteq X \sim A} (1 - p\tau(X \sim B)) = 1 - \sup_{x \in X \sim B \subseteq X \sim A} p\tau(X \sim B) = 1 - pN_x(X \sim A).$ 

(b)  $p-cl(\emptyset)(x) = 1 - pN_x(X \sim \emptyset) = 0.$ 

(c) It is clear that for any  $A \in P(X)$  and any  $x \in X$ , if  $x \notin A$ , then  $pN_x(A) = 0$ . If  $x \in A$ , then  $p-cl(A)(x) = 1 - pN_x(X \sim A) = 1 - 0 = 1$ . Then  $[A \subseteq p-cl(A)] = 1$ .

(d)  $[\forall B(B \in pN_x \to A \cap B \neq \emptyset)] = \inf_{B \subseteq X \sim A} (1 - pN_x(B)) = 1 - pN_x(X \sim A) = [x \in p - cl(A)].$ 

(e) From Corollary 4.1 and from (a) and (c) above we have

$$[A \equiv p - cl(A)] = \inf_{x \in X \sim A} (1 - (p - cl(A))(x))$$
$$= \inf_{x \in X \sim A} pN_x(X \sim A) = p\tau(X \sim A) = [A \in pF].$$

(f) If  $[A \subseteq B] = 0$ , then  $[B \doteq p - cl(A)] = 0$ . Now, we suppose  $[A \subseteq B] = 1$ , and have  $[B \subseteq p - cl(A)] = 1 - \sup_{x \in B \sim A} pN_x(X \sim A)$ ,  $[p - cl(A) \subseteq B] = \inf_{x \in X \sim B} pN_x(X \sim A)$ . So,  $[B \equiv p - cl(A)] = \max(0, \inf_{x \in X \sim B} pN_x(X \sim A) - \sup_{x \in B \sim A} pN_x(X \sim A))$ . If  $[B \equiv p - cl(A)] > t$ , then  $\inf_{x \in X \sim B} pN_x(X \sim A) > t + \sup_{x \in B \sim A} pN_x(X \sim A)$ . For any  $x \in X \sim B$ ,  $\sup_{x \in C \subseteq X \sim A} p\tau(C) > t + \sup_{x \in B \sim A} pN_x(X \sim A)$ , i.e., there exists  $C_x$  such that  $x \in C_x \subseteq X \sim A$ .

and  $p\tau(C_x) > t + \sup_{x \in B \sim A} pN_x(X \sim A)$ . Now we want to prove that  $C_x \subseteq X \sim B$ . If not, then there exists  $x' \in B \sim A$  with  $x' \in C_x$ . Hence, we obtain  $\sup_{x \in B \sim A} pN_x(X \sim A) \ge pN_{x'}(X \sim A) \ge p\tau(C_x) > t + \sup_{x \in B \sim A} pN_x(X \sim A)$ , a contradiction. Therefore,  $pF(B) = p\tau(X \sim B) = \inf_{x \in X \sim B} pN_x(X \sim B) \ge \inf_{x \in X \sim B} p\tau(C_x) \ge t + \sup_{x \in B \sim A} pN_x(X \sim A) \ge t$ . Since t is arbitrary, it holds that  $[B \doteq p-cl(A)] \le [B \in pF]$ .

(2) The proof is similar to (1).  $\Box$ 

**Theorem 5.2.** For any x, A, B, (1) (a)  $\models p\text{-int}(A) \equiv X \sim p\text{-}cl(X \sim A)$ ; (b)  $\models p\text{-int}(X) \equiv X$ ; (c)  $\models p\text{-int}(A) \subseteq A$ ; (d)  $\models B \doteq p\text{-int}(A) \rightarrow B \in p\tau$ ; (e)  $\models B \in p\tau \land B \subseteq A \rightarrow B \subseteq p\text{-int}(A)$ ; (f)  $\models A \equiv p\text{-int}(A) \leftrightarrow A \in p\tau$ . (2) (a)  $\models cp\text{-int}(A) \equiv X \sim cp\text{-}cl(X \sim A)$ ; (b)  $\models cp\text{-int}(A) \equiv X$ ; (c)  $\models cp\text{-int}(A) \subseteq A$ ; (d)  $\models B \doteq cp\text{-int}(A) \rightarrow B \in \tau_{cpN}$ ; (e)  $\models B \in \tau_{cpN} \land B \subseteq A \rightarrow B \subseteq cp\text{-int}(A)$ ;

(f)  $\models A \equiv cp\text{-}int(A) \leftrightarrow A \in \tau_{cpN}$ .

**Proof.** (1) (a) From Theorem 5.1(a)  $p-cl(X \sim A)(x) = 1 - pN_x(A) = 1 - (p-int(A))(x)$ . Then,  $[p-int(A) \equiv X \sim p-cl(X \sim A)] = 1$ .

(b) and (c) are obtained from (a) above and from Theorem 5.1(1)(b) and (1)(c).

(d) From (a) above and from Theorem 5.1(1)(f) we have  $[B \doteq p\text{-}int(A)] = [X \sim B \doteq p\text{-}cl(X \sim A)] \leq [X \sim B \in pF] = [B \in p\tau].$ 

(e) If  $[B \subseteq A] = 0$ , then the result holds. If  $[B \subseteq A] = 1$ , then we have that  $[B \subseteq p\text{-int}(A)] = \inf_{x \in B} (p\text{-int}(A))(x) = \inf_{x \in B} pN_x(A) \ge \inf_{x \in B} pN_x(B) = p\tau(B) = [B \in p\tau \land B \subseteq A].$ 

(f) From Corollary 4.1, we have

$$[A \equiv p\text{-}int(A)] = \min\left(\inf_{x \in A} (p\text{-}int(A))(x), \inf_{x \in X \sim A} (1 - (p\text{-}int(A))(x))\right)$$
$$= \inf_{x \in A} (p\text{-}int(A))(x) = \inf_{x \in A} pN_x(A) = p\tau(A) = [A \in p\tau].$$

(2) The proof is similar to (1).  $\Box$ 

#### 6. pre-Continuous functions and cpre-continuous functions

**Definition 6.1.** Let  $(X, \tau), (Y, U)$  be two fuzzifying topological spaces. (1) A unary fuzzy predicate  $pC \in \mathscr{F}(Y^X)$  called fuzzy *pre*-continuity, is given as

 $pC(f) := \forall u(u \in U \to f^{-1}(u) \in p\tau).$ 

(2) A unary fuzzy predicate  $cpC \in \mathscr{F}(Y^X)$  called fuzzy *cpre*-continuity, is given as

$$cpC(f) := \forall u(u \in U \to f^{-1}(u) \in cp\tau).$$

**Definition 6.2.** Let  $(X, \tau), (Y, U)$  be two fuzzifying topological spaces. For any  $f \in Y^X$ , we define the unary fuzzy predicates  $pH_j, cpH_j \in \mathscr{F}(Y^X)$  where j = 1, 2, ..., 5 as follows:

(1) (a)  $pH_1(f) := \forall B(B \in F_Y \to f^{-1}(B) \in pFx);$ (b)  $cpH_1(f) := \forall B(B \in F_Y \to f^{-1}(B) \in cpFx);$ 

where  $F_Y$  is the family of closed subsets of Y; and  $pF_X$  and  $cpF_X$  are the families of *pre*-closed and *cpre*-closed subsets of X, respectively.

(2) (a)  $pH_2(f) := \forall x \forall u (u \in N_{f(x)}^Y \to f^{-1}(u) \in pN_x^X);$ (b)  $cpH_2(f) := \forall x \forall u (u \in N_{f(x)}^Y \to f^{-1}(u) \in cpN_x^X);$ 

where  $N^Y$  is the neighborhood system of Y; and  $pN^X$  and  $cpN^X$  are the *pre*-neighborhood and *cpre*-neighborhood systems of X respectively.

(3) (a) 
$$pH_3(f) := \forall x \forall u (u \in N_{f(x)}^Y \to \exists v (f(v) \subseteq u \to v \in pN_x^X));$$
  
(b)  $cpH_3(f) := \forall x \forall u (u \in N_{f(x)}^Y \to \exists v (f(v) \subseteq u \to v \in cpN_x^X)).$   
(4) (a)  $pH_4(f) := \forall A (f(p - cl_X(A)) \subseteq cl_Y(f(A)));$ 

(b)  $cpH_4(f) := \forall A(f(cp-cl_X(A)) \subseteq cl_Y(f(A))).$ (5) (a)  $pH_5(f) := \forall B(p-cl_X(f^{-1}(B)) \subseteq f^{-1}(cl_Y(B)));$ (b)  $cpH_5(f) := \forall B(cp-cl_X(f^{-1}(B)) \subseteq f^{-1}(cl_Y(B))).$ 

**Theorem 6.1.** (1)  $\models f \in pC \leftrightarrow f \in pH_j$ , j = 1, 2, 3, 4, 5; (2)  $\models f \in cpC \leftrightarrow f \in cpH_1$ .

**Proof.** We will prove (1) only since the proof of (2) is similar to the corresponding result in (1). (a) We prove that  $\models f \in pC \leftrightarrow f \in pH_1$ .

$$[f \in pH_1] = \inf_{B \in P(Y)} \min(1, 1 - F_Y(B) + pF_X(f^{-1}(B)))$$
  
=  $\inf_{B \in P(Y)} \min(1, 1 - U(Y \sim B) + p\tau(X \sim f^{-1}(B)))$   
=  $\inf_{B \in P(U)} \min(1, 1 - U(Y \sim B) + p\tau(f^{-1}(Y \sim B)))$   
=  $\inf_{u \in P(Y)} \min(1, 1 - U(u) + p\tau(f^{-1}(u)))$   
=  $[f \in pC].$ 

(b) We want to prove that  $\models f \in pC \leftrightarrow f \in pH_2$ .

First, we prove that  $pH_2(f) \ge pC(f)$ . If  $N_{f(x)}^Y(u) \le pN_x^X(f^{-1}(u))$  the result holds. Suppose  $N_{f(x)}^Y(u) > pN_x^X(f^{-1}(u))$ . It is clear that, if  $f(x) \in A \subseteq u$ , then  $x \in f^{-1}(A) \subseteq f^{-1}(u)$ . Then,

$$N_{f(x)}^{Y}(u) - pN_{x}^{X}(f^{-1}(u)) = \sup_{f(x)\in A\subseteq u} U(A) - \sup_{x\in B\subseteq f^{-1}(u)} p\tau(B)$$
$$\leqslant \sup_{f(x)\in A\subseteq u} U(A) - \sup_{f(x)\in A\subseteq u} p\tau(f^{-1}(A))$$
$$\leqslant \sup_{f(x)\in A\subseteq u} (U(A) - p\tau(f^{-1}(A))).$$

So,

$$1 - N_{f(x)}^{Y}(u) + p N_{x}^{X}(f^{-1}(u)) \ge \inf_{f(x) \in A \subseteq u} (1 - U(A) + p\tau(f^{-1}(A)))$$

and thus,

$$\min(1, 1 - N_{f(x)}^{Y}(u) + pN_{x}^{X}(f^{-1}(u))) \ge \inf_{f(x) \in A \subseteq u} \min(1, 1 - U(A) + p\tau(f^{-1}(A)))$$
$$\ge \inf_{v \in P(Y)} \min(1, 1 - U(v) + p\tau(f^{-1}(v))) = pC(f).$$

Hence,

$$\inf_{x \in X} \inf_{u \in P(Y)} \min(1, 1 - N_{f(x)}^{Y}(u) + p N_{x}^{X}(f^{-1}(u))) \ge [f \in pC].$$

Secondly, we prove that  $pC(f) \ge pH_2(f)$ . From Corollary 4.1, we have

$$pC(f) = \inf_{u \in P(Y)} \min(1, 1 - U(u) + p\tau(f^{-1}(u)))$$
  

$$\geq \inf_{u \in P(Y)} \min\left(1, 1 - \inf_{f(x) \in u} N_{f(x)}^{Y}(u) + \inf_{x \in f^{-1}(u)} pN_{x}^{X}(f^{-1}(u))\right)$$
  

$$= \inf_{u \in P(Y)} \min\left(1, 1 - \inf_{x \in f^{-1}(u)} N_{f(x)}^{Y}(u) + \inf_{x \in f^{-1}(u)} pN_{x}^{X}(f^{-1}(u))\right)$$
  

$$\geq \inf_{x \in X} \inf_{u \in P(Y)} \min(1, 1 - N_{f(x)}^{Y}(u) + pN_{x}^{X}(f^{-1}(u))) = pH_{2}(f).$$

(c) We prove that  $\models f \in pH_2 \leftrightarrow f \in pH_3$ . From Theorem 4.2(2) we have

$$pH_{3}(f) = \inf_{x \in X} \inf_{u \in P(Y)} \min\left(1, 1 - N_{f(x)}^{Y}(u) + \sup_{v \in P(X), f(v) \subseteq u} pN_{x}^{X}(v)\right)$$
$$= \inf_{x \in X} \inf_{u \in P(Y)} \min(1, 1 - N_{f(x)}^{Y}(u) + pN_{x}^{X}(f^{-1}(u))) = pH_{2}(f).$$

(d) We prove that  $\models f \in pH_4 \leftrightarrow f \in pH_5$ . First, for any  $B \in P(Y)$  one can deduce that

$$[f^{-1}(f(p-cl_X(f^{-1}(B)))) \supseteq p-cl_X(f^{-1}(B))] = 1, \quad [cl_Y(f(f^{-1}(B))) \subseteq cl_Y(B)] = 1$$

and

$$[f^{-1}(cl_Y(f(f^{-1}(B)))) \subseteq f^{-1}(cl_Y(B))] = 1.$$

Then from Lemma 1.2(2) [9] we have

$$\begin{split} [p\text{-}cl_X(f^{-1}(B)) &\subseteq f^{-1}(cl_Y(B))] \geq [f^{-1}(f(p\text{-}cl_X(f^{-1}(B)))) \subseteq f^{-1}(cl_Y(B))] \\ &\geq [f^{-1}(f(p\text{-}cl_X(f^{-1}(B)))) \subseteq f^{-1}(cl_Y(f(f^{-1}(B))))] \\ &\geq [f(p\text{-}cl_X(f^{-1}(B))) \subseteq cl_Y(f(f^{-1}(B)))]. \end{split}$$

Therefore,

$$pH_{5}(f) = \inf_{B \in P(Y)} [p - cl_{X}(f^{-1}(B)) \subseteq f^{-1}(cl_{Y}(B))]$$
  
$$\geq \inf_{B \in P(Y)} [f^{-1}(f(p - cl_{X}(f^{-1}(B)))) \subseteq f^{-1}(cl_{Y}(B))]$$
  
$$\geq \inf_{B \in P(Y)} [f^{-1}(f(p - cl_{X}(f^{-1}(B)))) \subseteq f^{-1}(cl_{Y}(f(f^{-1}(B))))]$$

$$\geq \inf_{B \in P(Y)} [f(p - cl_X(f^{-1}(B))) \subseteq cl_Y(f(f^{-1}(B)))]$$
  
 
$$\geq \inf_{A \in P(X)} [f(p - cl_X(A)) \subseteq cl_Y(f(A))] = pH_4(f).$$

Secondly, for each  $A \in P(X)$ , there exists  $B \in P(Y)$  such that f(A) = B and  $f^{-1}(B) \supseteq A$ . Hence,

$$[p - cl_X(f^{-1}(B)) \subseteq f^{-1}(cl_Y(B))] \leq [p - cl_X(A) \subseteq f^{-1}(cl_Y(f(A)))]$$
$$\leq [f(p - cl_X(A)) \subseteq f(f^{-1}(cl_Y(f(A))))]$$
$$\leq [f(p - cl_X(A)) \subseteq cl_Y(f(A))].$$

Thus,

$$pH_4(f) = \inf_{A \in P(X)} [p - cl_X(A) \subseteq f^{-1}(cl_Y(f(A)))] \ge \inf_{B \in P(Y), B = f(A)} [p - cl_X(f^{-1}(B)) \subseteq f^{-1}(cl_Y(B))]$$
$$\ge \inf_{B \in P(Y)} [p - cl_X(f^{-1}(B)) \subseteq f^{-1}(cl_Y(B))] = pH_5(f).$$

(e) We want to prove that  $\models f \in pH_5 \leftrightarrow f \in pH_2$ ,

$$pH_{5}(f) = [\forall B(p-cl_{X}(f^{-1}(B)) \subseteq f^{-1}(cl_{Y}(B)))]$$
  
= 
$$\inf_{B \in P(Y)} \inf_{x \in X} \min(1, 1 - (1 - pN_{x}(X \sim f^{-1}(B))) + 1 - N_{f(x)}(Y \sim B))$$
  
= 
$$\inf_{B \in P(Y)} \inf_{x \in X} \min(1, 1 - N_{f(x)}(Y \sim B)) + pN_{x}(f^{-1}(Y \sim B))$$
  
= 
$$\inf_{u \in P(Y)} \inf_{x \in X} \min(1, 1 - N_{f(x)}(u)) + pN_{x}(f^{-1}(u)) = pH_{2}(f). \square$$

**Theorem 6.2.** (1)  $\models f \in cpH_2 \leftrightarrow f \in cpH_j$ , j = 3, 4, 5; (2)  $\models f \in cpC \rightarrow f \in cpH_2$ .

**Proof.** (1) It is similar to the proof of (c)-(e) in the proof of Theorem 6.1.  $\Box$  (2) It is similar to the proof of the first part in (b) in Theorem 6.1.

**Remark 6.1.** In the following theorem, we indicate the fuzzifying topologies with respect to which we evaluate the degree to which f is continuous or cpC-continuous. Thus, the symbols  $(\tau, U)-C(f)$ ,  $(\tau_{cpN}, U)-C(f)$ ,  $(\tau, U_{cpN})-cpC(f)$ , etc. will be understood.

Applying Theorems 3.4(1) and 4.4 one can deduce the following theorem.

Theorem 6.3. (1)  $\models f \in (\tau, U_{cpN})$ - $C \rightarrow f \in (\tau, U)$ -C; (2)  $\models f \in (\tau, U)$ - $cpC \rightarrow f \in (\tau_{cpN}, U)$ -C; (3)  $\models f \in (\tau, U)$ - $C \rightarrow f \in (\tau, U)$ -cpC.

# 7. Decompositions of fuzzy continuity in fuzzifying topology

**Theorem 7.1.** Let  $(X, \tau), (Y, U)$  be two fuzzifying topological spaces. Then for each  $f \in Y^X$ .

$$\models C(f) \to (pC(f) \land cpC(f)).$$

**Proof.** The proof is obtained from Theorem 3.3(1).  $\Box$ 

Remark 7.1. In crisp setting, i.e., if the underlying fuzzifying topology is the ordinary topology, one can have

$$\models pC(f) \land cpC(f) \to C(f).$$

But this statement may not be true in general in fuzzifying topology as illustrated by the following counterexample.

**Counterexample 7.1.** Let  $(X, \tau)$  be the fuzzifying topological space defined in Counterexample 3.1. Consider the identity function f from  $(X, \tau)$  onto  $(X, \sigma)$  where  $\sigma$  is a fuzzifying topology on X defined as follows:

 $\sigma(A) = \begin{cases} 1, & A \in \{X, \emptyset, \{a, b\}\}, \\ 0 & \text{otherwise.} \end{cases}$ 

Then  $\frac{5}{6} \wedge \frac{1}{6} = pC(f) \wedge cpC(f) \not\leq C(f) = 0.$ 

**Theorem 7.2.** Let  $(X, \tau), (Y, U)$  be two fuzzifying topological spaces and let  $f \in Y^X$ . Then

$$\models C(f) \to (pC(f) \leftrightarrow cpC(f)).$$

**Proof.**  $[pC(f) \rightarrow cpC(f)] = \min(1, 1 - pC(f) + cpC(f)) \ge pC(f) \land cpC(f).$ 

Also,  $[cpC(f) \rightarrow pC(f)] = \min(1, 1 - cpC(f) + pC(f)) \ge cpC(f) \land pC(f)$ . Then from Theorem 7.1 we have  $cpC(f) \land pC(f) \ge C(f)$  and so the result holds.  $\Box$ 

**Theorem 7.3.** Let  $(X, \tau), (Y, U)$  be two fuzzifying topological spaces and let  $f \in Y^X$ . If  $[p\tau(f^{-1}(u))] = 1$  or  $[cp\tau(f^{-1}(u))] = 1$  for each  $u \in P(Y)$ , Then

 $\models C(f) \leftrightarrow (pC(f) \land cpC(f)).$ 

**Proof.** Now, we need to prove that  $C(f) = pC(f) \wedge cpC(f)$ . Applying Theorem 3.4(2) we have

$$pC(f) \wedge cpC(f) = \inf_{u \in P(Y)} \min(1, 1 - U(u) + p\tau(f^{-1}(u))) \wedge \inf_{u \in P(Y)} \min(1, 1 - U(u) + cp\tau(f^{-1}(u)))$$
$$= \inf_{u \in P(Y)} \min(1, (1 - U(u) + p\tau(f^{-1}(u))) \wedge (1 - U(u) + cp\tau(f^{-1}(u))))$$
$$= \inf_{u \in P(Y)} \min(1, 1 - U(u) + (p\tau(f^{-1}(u))) \wedge cp\tau(f^{-1}(u)))$$
$$= \inf_{u \in P(Y)} \min(1, 1 - U(u) + \tau(f^{-1}(u))) = C(f). \square$$

**Theorem 7.4.** Let  $(X, \tau), (Y, U)$  be two fuzzifying topological spaces and let  $f \in Y^X$ . Then, (1) if  $[p\tau(f^{-1}(u))] = 1$  for each  $u \in P(Y)$ , then

$$\models pC(f) \to (cpC(f) \leftrightarrow C(f)).$$

(2) if  $[cp\tau(f^{-1}(u))] = 1$  for each  $u \in P(Y)$ , then

$$\models cpC(f) \to (pC(f) \leftrightarrow C(f)).$$

**Proof.** (1) Since  $[p\tau(f^{-1}(u))] = 1$  and so  $[f^{-1}(u) \subseteq (f^{-1}(u))^{-\circ}] = 1$ , then  $[f^{-1}(u) \cap (f^{-1}(u))^{-\circ} \subseteq (f^{-1}(u))^{\circ}] = [f^{-1}(u) \subseteq (f^{-1}(u))^{\circ}]$ . Thus,

$$cpC(f) = \inf_{u \in P(Y)} \min(1, 1 - U(u) + cp\tau(f^{-1}(u)))$$
  
= 
$$\inf_{u \in P(Y)} \min(1, 1 - U(u) + [f^{-1}(u) \cap (f^{-1}(u))^{-\circ} \subseteq (f^{-1}(u))^{\circ}])$$
  
= 
$$\inf_{u \in P(Y)} \min(1, 1 - U(u) + [f^{-1}(u) \subseteq (f^{-1}(u))^{\circ}])$$
  
= 
$$\inf_{u \in P(Y)} \min(1, 1 - U(u) + \tau(f^{-1}(u))) = C(f).$$

(2) Since  $[cp\tau(f^{-1}(u))] = 1$  one can deduce that  $(f^{-1}(u))^{-\circ} = (f^{-1}(u))^{\circ}$ . So,

$$pC(f) = \inf_{u \in P(Y)} \min(1, 1 - U(u) + p\tau(f^{-1}(u))).$$
  
=  $\inf_{u \in P(Y)} \min(1, 1 - U(u) + [f^{-1}(u) \subseteq (f^{-1}(u))^{\circ}])$   
=  $\inf_{u \in P(Y)} \min(1, 1 - U(u) + [f^{-1}(u) \subseteq (f^{-1}(u))^{\circ}])$   
=  $\inf_{u \in P(Y)} \min(1, 1 - U(u) + \tau(f^{-1}(u))) = C(f).$ 

**Theorem 7.5.** Let  $(X, \tau), (Y, U), (Z, V)$  be three fuzzifying topological spaces. For any  $f \in Y^X$ ,  $g \in Z^Y$ . (1)  $\models pC(f) \rightarrow (C(g) \rightarrow pC(g \circ f));$ (2)  $\models C(g) \rightarrow (pC(f) \rightarrow pC(g \circ f));$ (3)  $\models cpC(f) \rightarrow (C(g) \rightarrow cpC(g \circ f));$ (4)  $\models C(g) \rightarrow (cpC(f) \rightarrow cpC(g \circ f)).$ 

**Proof.** (1) We need to prove that  $[pC(f)] \leq [C(g) \rightarrow pC(g \circ f)]$ . If  $[C(g)] \leq [pC(g \circ f)]$ , the result holds; if  $[C(g)] > [pC(g \circ f)]$ , then

$$\begin{split} [C(g)] - [pC(g \circ f)] &= \inf_{v \in P(Z)} \min(1, 1 - V(v) + U(g^{-1}(v))) \\ &- \inf_{v \in P(Z)} \min(1, 1 - V(v) + p\tau((g \circ f)^{-1}(v))) \\ &\leqslant \sup_{v \in P(Z)} (U(g^{-1}(v)) - p\tau(g \circ f)^{-1}(v)) \\ &\leqslant \sup_{u \in P(Y)} (U(u) - p\tau(f^{-1}(u))). \end{split}$$

Therefore,

$$[C(g) \to pC(g \circ f)] = \min(1, 1 - [C(g)] + [pC(g \circ f)])$$
  
$$\geq \inf_{u \in P(Y)} \min(1, 1 - U(u) + p\tau(f^{-1}(u))) = pC(f).$$

(2)

$$\begin{split} & [C(g) \to (pC(f) \to pC(g \circ f))] \\ & = [\neg (C(g) \land \neg (pC(f) \to pC(g \circ f)))] \end{split}$$

$$= [\neg (C(g) \land \neg \neg (pC(f) \land \neg (pC(g \circ f))))] = [\neg (C(g) \land pC(f) \land \neg (pC(g \circ f)))]$$
$$= [\neg (pC(f) \land C(g) \land \neg pC(g \circ f))] = [\neg (pC(f) \land \neg \neg (C(g) \land \neg (pC(g \circ f))))]$$
$$= [\neg (pC(f) \land \neg (C(g) \rightarrow pC(g \circ f)))] = [pC(f) \rightarrow (C(g) \rightarrow pC(g \circ f))] = 1.$$

The proofs of (3) and (4) are similar to (1) and (2), respectively.  $\Box$ 

# References

- [1] A.S. Bin Shahna, On fuzzy strong semicontinuity and fuzzy precontinuity, Fuzzy Sets and Systems 44 (1991) 303-308.
- [2] C.L. Chang, Fuzzy topological spaces, J. Math. Anal. Appl. 24 (1968) 182-190.
- [3] J.L. Kelley, General Topology, Van Nostrand, New York, 1955.
- [4] F.H. Khedr, F.M. Zeyada, O.R. Sayed, Fuzzy semi-continuity and fuzzy csemi-continuity in fuzzifying topology, J. Fuzzy Math. Inst. 7(1) (1999) 105–124.
- [5] A.S. Mashhour, M.E. Abd El-Monsef, S.N. El-Deeb, On pre-continuous and weak precontinuous mapping, Proc. Math. Phys. Soc. Eygpt 53 (1982) 47–53.
- [6] M. Przemski, A decomposition of continuity and  $\alpha$ -continuity, Acta Math. Hungar. 61 (1993) 93–98.
- [7] M.S. Ying, A new approach for fuzzy topology (I), Fuzzy Sets and Systems 39 (1991) 302-321.
- [8] M.S. Ying, A new approach for fuzzy topology (II), Fuzzy Sets and Systems 47 (1992) 221-232.
- [9] M.S. Ying, A new approach for fuzzy topology (III), Fuzzy Sets and Systems 55 (1993) 193-207.
- [10] L.A. Zadeh, Fuzzy sets, Inform. and Control 8 (1965) 338-353.